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JPS -To Do
*calculate Cd (with/without gate) -> running 

Run = 19985 P = 1013.32[hPa] T = 291.28[K] ncoll= 20000で 
Transverse diffusion:             0.00939315 cm1/2 +/- 0.18% 

*calculate drift velocity->compare with simulation 
->I reported the Yonamine san’s result in LCWS 
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Transverse diffusion:0.00943051 cm1/2 +/- 6.5%
Preliminary ncoll=15

ncoll=20000->runnning
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Cd by row(with gate)
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Drift Length: z [mm]
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Drift Length: z [mm]
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Pad Response (Module3 Row18)

/ndf = 59.1/62χ
m]µ 1.7 [±(0) =  481.3 PRσ

]cmm/µ 0.26 [± =  91.47 DC

) z2
D+(C2(0)PRσ = 2

PRσ

Pad Response (Module3 Row18)
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σPR(0) by row(with gate)
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JPS -Schedule
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reported  
in WP mtg

reported  
in LCTPC mtg

JPS

mailto:yumia@post.kek.jp


yumia@post.kek.jpLCTPCmtg2017.2.23

MPGD

• abstract dead line: 2/28-> I’ll send the 
abstract by E-mail today


